
 
  RDMOTO CZECH REPUBLIC 
  info@rdmoto.eu 
  www.rdmoto.eu 

 

 

1 

H39SD 
Honda CB500 X/ CB500 F 2013- 

 

Mounting kit – Left side         Mounting kit – Right side: 

 

 

 

 

ID Description Cat. 

No. 

Pcs 

1 Dural. Protector carrier 646 1 

2 Dural. Protector carrier 537 1 

3 bolt M10x75x1,25 938 1 

4 Dural. Roller d=20mm 435 1 

5 Dural. Adapter  d= 55mm DV-13 1 

6 Allen bolt cap X4 1 

7 Bolt M10x85 981 1 

8 Bolt M8x25 815 2 

9 Washer M8 802 2 

ID Description Cat. 

No. 

Pcs 

1 Dural. Protector carrier 647 1 

2 Dural. Protector carrier 537 1 

3 bolt M10x75x1,25 938 1 

4 Dural. Roller d=20mm 435 1 

5 Dural. Adapter  d= 55mm DV-13 1 

6 Allen bolt cap X4 1 

 7 Bolt M10x85 981 1 

 8 Bolt M8x25 815 2 

 9 Washer M8 802 2 



 
  RDMOTO CZECH REPUBLIC 
  info@rdmoto.eu 
  www.rdmoto.eu 

 

 

2 

 

 

 

 

 

 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Note: We recommend using a thread glue (blue color) during installation. 

1. Remove the original bolt from 

motorcycle frame 

2. Fit the Dural. Protector carrier 

(ID.1) onto motorcycle frame 

using bolt M10 (ID.3), put a 

roller (ID.4) between frame and 

the protector carrier. 

3. Fit the plastic plug onto allen 

screw (ID.5). 

4. Insert the ID.7 bolt M10 

through dural. protector carrier 

(ID.2) and dural. adapter (ID.5), 

then screw it onto the protector 

carrier already fitted to frame.   

5. Attach the slider using ID.8 

bolts and ID.9 washers. 

 


